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1. While preparing teaching learning material, teacher should 

keep this in mind 
 1. Instructions of higher authorities 
 2. Allotted resources 
 3. Different types of children in classroom 
 4. Parents 
 Α′↔Υν Κσ[ο Κσ♦ιΘο ΚÚ↑ΚûΖ ΘΥôν 

ùΜµÙλ úΣôÕ ΒûΘ ♣û∴↑ο ùΚôρΖúΞηÓλ 

 1. ∆Υν ≅ƒΚô↔Κ↓τ ΑúΩôΜû∴Κρ 

 2. ΙÕχΚκΣγΟ ΞΖδΚρ 

 3. ΞÏκ♦ÛρΖ ΣοΞûΚ ΤôΠΞν 

 4. ùΣσú[ôνΚρ 

 

2. These are responsible for teaching learning of children with 
Special Needs in school 

 1. Non-teaching staff 
 2. Peer group 
 3. Head Master 
 4. Parents 
 Σρ↓χáΟιƒο ′[κ× úΘûΞΚρ ∆ρΖ 

ÏΨϕûΘΚ↓τ Κσ[ο Κσ♦ιΘο ΒΞνΚ↓τ 
ùΣôßκ× 

 1. Α′↔Υν ≅οΩôΘ Σ∞ΥôΖν 

 2. ΙκΣôν ÏÝ 

 3. ΘûΩûΤΥô′↔Υν 

 4. ùΣσú[ôν 



3. Name of the scheme implementing at present in Education 
Department of Andhra Pradesh under auspices of the Govt. of 
India. 

 1. Sarva Shiksha Abhiyan 
 2. Rashtriya Madhyamik Shiksha Abhiyan 
 3. Samagra Shiksha 
 4. Rashtriya Bala Swasthya Karyakram 
 ΒϕƒΥ ≅ςΜôδΚιƒτ ΑΘςÜΟτ Αϕƒςκ♦ςúΘΜ 

Κο↑ιÕû[♠ο ΘσúΣôÕ ≅ΤΩô€τ[ ƒγΟλ 

 1. ΜνΞ ′χ_ô ≅♦Υôτ 

 2. Βςôωγ↔Υ ΤôιΥ♥χ ×χ_ô ≅♦Υôτ 

 3. ΜΤχς ′χ_ô 

 4. Βςôωγ↔Υ ΣôΩ υΞιΥ ΚôνΥ€ςλ 

 

4. The percentage of pass marks in examinations for general 
students 

 úΘνÜΚ↓ο ΜôΘôςΠ ΤôΠôχΚνΚ↓τ úΘνε′ 
ΤƒκùΣη ΜΘÅΘλ 

 1. 20% 
 2. 10% 
 3. 30% 
 4. 35% 

  



5. When do teacher needs to reinforce the children with special 
needs in classroom 

 1. At every stage 
 2. Occasionally 
 3. Sometimes 
 4. Not needed 
 ′[κ× úΘûΞΚρ ∆ρΖ ÏΨϕûΘΚÞχÏ 

ΞÏκΣû[♠ο Α′↔Υν ΞÛîγΟλ ùΜµÙλ Øû[ 

 1. ΙπùΞôÚ ♣ûΩ♠Ûλ 

 2. ≅πΞκúΣôÕ 

 3. ΦκúΣôΘôΞÕ ΙÚØû[ 

 4. úΘûΞ♠οûΩ 

 

6. These children are to be motivated very often in classroom 
 1. Thalassemia 
 2. Intellectual Disability  
 3. Haemophilia 
 4. Muscular Dystrophy 
 ΒϕΘ ÏΨϕûΘΚÞχÏ ΞÏκΣû[♠ο Α′↔Υν 

≅⁄χΚ⁄ ΕχΚΤ↓κΣôν 

 1. ΘΩ≠♥Υô 

 2. ÖηΠ°Ü Ïû[ΣôÓ 

 3. ÍúΤôÀ←Υô 

 4. ΤυÏΩν ⁄υγúςô♦ 

 

 
 
 



7. Rehabilitation Council of India Act - 1992 was implemented 
from this day  

 ΒϕƒΥ ΤßΞôθÜ ΚÜτ′ο ΜγΟλ ` 1992  

 ΡûΟØû[χÏ ΞϕΘ Ρôρ 

 1. 22.06.1992 
 2. 22.09.1993 
 3. 22.07.1992 
 4. 22.06.1993 

 

8. Individualized Education Plan is essential to this children 
 1. Children from backward classes 
 2. Children from scheduled castes & tribes 
 3. Children With Special Needs 
 4. Out of school children 
 ΒϕΘ ÏΨϕûΘΚÞχÏ Θ±κΣγΟ Κο↑ιƒγΟλ 

≅Ξ′Υλ 

 1. ♦σΣÓιΘκΣγΟ ΞÏκ× ÏΨϕûΘΚρ 

 2. Σγ⁄Υ←∴ιΘΞν+ ΣΨδÏ⁄♠∴ ÏΨϕûΘΚρ 

 3. ′[κ× úΘûΞΚρ ∆ρΖ ÏΨϕûΘΚρ 

 4. Σρ↓χÏ ùΞ↓úΥ ∆ρΖ ÏΨϕûΘΚρ 

  



9. While teaching about “the structure of human body” to 
Children With Special Needs, this teaching learning  
materials are to be used. 

 1. Blackboard 
 2. Models 
 3. Flash cards 
 4. Charts 

 »»Τ±Θ ∆ΟΩûΤκ×µµ Φàλ ΣôΟιûΘ Κσ♦χÏλ 
úΣôÕ+ ′[κ× úΘûΞΚρ ∆ρΖ ÏΨϕûΘΚÞχÏ 
ΣΥτΣÓλ Κσ[ο Κσ♦ιΘο ΚÚ↑Κρ 

 1. ΚÚλΣΩûΚ 

 2. Τôƒ↔Κρ 

 3. ♥τ∴ΩγûΟΚρ 

 4. ΞûςΣΟδΚρ 

 
10. Teaching about Agricultural methods are very useful to this 

children 
 1. Intellectual Disability 
 2. Visual Impairment 
 3. Cerebral Palsy 
 4. Parkinson’s Disease 
 úΞΖôηûΤ Øû[Κρ Σσ°Υ Κσ♦ιΘο 

ΒπΞô[ô∴ ÏΨϕûΘΚÞχÏ ♥ΚÜλ ΣΥτΣÓ€[Õ 

 1. ÖηΠ°Ü Ïû[ΣôÓ 

 2. ΣôνûΞ Ïû[ΣôÓ 

 3. ùΣÚêûΖΞôΘλ 

 4. Σôν€τΜτυ úΡôµ 

 
  



11. To understand the climatic conditions, teacher should follow 
this teaching method in inclusive classroom 

 1. Discussion – Demonstration method 
 2. Lecture method 
 3. Field trip 
 4. Experiment method 
 ùΞπúΞß ΚôΩ♣ûΩ Σσ° ×↔ϕÕχùΚôρΖ+ 

ΒûΠκ× ΞÏκ♦ο Α′↔Υν ♦τΣσ[ úΞη⁄Υ 
Κσ♦ιΘο Øû[ 

 1. ↑ΞôΘλ  , ùΜµÕΚôγΟο Øû[ 

 2. ↑↔Üûς Øû[ 

 3. ΚΖκΣΥΠ Øû[ 

 4. Σ↔úΜôΘû∴ Øû[ 

 

  



12. Among the following activities these are conducted by the 
teacher to prepare the children for psychomotor readiness 

 a. Cutting papers 
 b. Drawing 
 c. Teaching how to behave in school 
 d. Holding a pencil 
 1. c  only 
 2. a, d only 
 3. a, b, c, d 
 4. a, b, d only 
 •θχΚηΟΞσ°ο ÏΨϕûΘΚρ ∆Ζ ΒΥχΚ 

ΑΥιΘλ ≅ûΟΥ Α′↔Υν ♣ΚθιΘ úΞη⁄Υ 
ùΜΥοΚρ  

 a. Κô€ΘδΚûΖ ùΞγÓΘο 

 b. ΞûςΘο 

 c. Σρ↓Κ↓ο ΒπΞôß ΡΟιûΘ ΒÚχΚ  

  úΞηÓùΤ∴ Κσ♦ιΘο 

 d. ùΣτ′ûΩ ♦⁄ιÕχ ùΚôρÞΘο 

 1. c ΤγÓλ 

 2. a, d ΤγÓλ 

 3. a, b, c, d 

 4. a, b, d ΤγÓλ 

 
  



13. “Mnemonics” strategy is very easy to remember the concepts 
for these children 

 1. Intellectual Disability 
 2. Haemophilia 
 3. Autism 
 4. Specific Learning Disabilities 

 »»ùΡúΤô±χυµµ Φàλ ≅ÔÏØû[♠τ Ξô♠ΩôΚ 
ΒϕΘ ÏΨϕûΘΚρ ΚÚιÕΚûΖ ♣û∴↑ο 
ùΚôρÞΘο Φ↓Θô€[Õ 

 1. ÖηΠ°Ü Ïû[ΣôÓ 

 2. ÍúΤôÀ←Υô 

 3. Αγ⁄Μλ 

 4. Ï°κ♦γΟ Κσ[ο Ïû[ΣôÓ 

 

14. To explain ‘Sound’ topic to class IX students, the appropriate 
teaching method is 

 1. Lecture method 
 2. Discussion 
 3. Experimental 
 4. Role play 
 »Ι←µ Φàλ ΣôΟχΚÚιûΘ ↑Ξ↔χΚ 8 Αλ ΞÏκ× 

ΤôΠôχΚÚχÏ ùΣôÚιΘΤô∴ Κσ♦ιΘο Øû[ 

 1. ↑↔Üûς Øû[ 

 2. ↑ΞôƒιΘο Øû[ 

 3. Σ↔úΜôΘû∴ Øû[ 

 4. ΣôιƒςúΤσß Ρ⁄ιΘο Øû[ 

 

 

 



15. Visual Acuity, Visual field are 
 1. Both are different 
 2. Both are same 
 3. Acuity related only 
 4. Field related only 
 ΣôνûΞ ÖηΤλ+ ΣôνûΞ ×Ωλ ΦτΣûΞ 

 1. ΒςηÓλ úΞ[ô∴ûΞ 

 2. ΒςηÓλ Ιτú[ 

 3. ΣôνûΞ ÖηΤιƒσÏ ΤγÓλ ùΘôΟνΣô∴Õ 

 4. ×ΩιƒσÏ ΤγÓλ ùΘôΟνΣô∴Õ 

 

16. This symbol is used to identify `100 currency note by persons 
with blind 

 1. Triangle 
 2. Square 
 3. Circle 
 4. Rectangle 

 ΣôνûΞΥσú[ôν Φ↓ûΤΥôΚ 0// ìΣôµ úΡôγûΟ 
≅ûΟΥôΖλ ΚôΠ ΣΥτΣÓιÕλ ′τ∴ιƒτ 
Ξ⁄Ξλ 

 1. ØχúΚôΠλ 

 2. ΜÕςλ 

 3. ΞγΟλ 

 4. ùΜπΞΚλ 

 
 
 
 
 



17. A student writes 1974 instead of 1947 very frequently. He may 
have  

 1. Visual Problem 
 2. Hearing Problem 
 3. Specific Learning Disabilities 
 4. Health problems 

 ΙÚ ΤôΠΞτ ≅⁄χΚ⁄+  1947 Η 1974 Φ∴ 
ΦÝÕ€[ôτ− ≅ϕΘ ΤôΠΞàχÏρΖ ♦ςεΜû∴ 

 1. ΣôνûΞ ♦ςεΜû∴ 

 2. úΚγΟο ♦ςεΜû∴ 

 3. Ï°κ♦γΟ Κσ[ο Ïû[ΣôÓ 

 4. ∆ΟοΡΩ Ïû[ΣôÓ 

 

18. School should have this facility for the children with cerebral 
palsy 

 1. Braille signage 
 2. Speech therapy 
 3. Ramp with railing  
 4. Scholarships 
 ùΣÚêûΖ ΞôΘιΘôο ΣôƒχΚκΣγΟ ΤôΠΞÚχΚôΚ 

ΚγΟôΥλ Σρ↓♠ο ΒÚχΚúΞη⁄Υ ΞΜƒ 

 1. ♦ùςµ← Ï°ÂÓΚρ 

 2. úΣεÑ ′€εûΜ 

 3. ûΚκ♦⁄ÙΟτ á⁄Υ ΜôµÜκ ΣôûΘ 

 4. ∆Θ↑ι ùΘôûΚ 

 

  



19. National institute for the empowerment of persons intellectual 
disabilities was established in India in this year 

 ΒϕƒΥô↑ο ÖηΠ°Ü Ïû[ΣôÓ ∆ρΖ 
ΡΣνΚÞχÏ ≅ƒΚôςΤ↓χÏλ úΘ′Υ ♣ßΞ∴ιûΘ 
♣ß↑Υ ΑηÓ 

 1. 1973 
 2. 1983 
 3. 1974 
 4. 1984 
  
20. This education policy is being implemented in India for 

persons with disabilities 
 1. Special Education 
 2. Inclusive Education 
 3. Integrated Education 
 4. General Education 
 ΘσúΣôÕ ΒϕƒΥô↑ο Τôσßι ƒ[∴ô↓ΚÞχΚôΚ 

ΡûΟØû[κ ΣÓιÕλ Κο↑χ ùΚôρûΚ  

 1. ′[κ×χ Κο↑ 

 2. ΒûΠκ×χ Κο↑ 

 3. ΙÚδ€ûΠϕΘ Κο↑ 

 4. ùΣôÕχ Κο↑ 

 
  



21. Intelligence quotient of students with specific learning 
disability 

 1. Below Average 
 2. Average, Above average 
 3. Low 
 4. High 
 Ï°κ♦γΟ Κσ[ο Ïû[ΣôÓ ∆ρΖ ÏΨϕûΘΚ↓τ 

ÖηΠ°Ü ΧÜ 

 1. ΜςôΜ↔ûΥ ↑Ο Ïû[Ü 

 2. ΜςôΜ↔+ ΜςôΜ↔ûΥ ↑Ο ≅ƒΚλ 

 3. Ïû[Ü 

 4. ≅ƒΚλ 

 
22. This disability is not covered in National Trust Act - 1999 
 1. Autism 
 2. Cerebral Palsy 
 3. Intellectual Disability 
 4. Dwarfism 

 úΘ′Υ ≅[χΚγΟûΖε ΜγΟλ -1999 ο ΒοΩôΘ 
Ïû[ΣôÓ 

 1. Αγ⁄Μλ 

 2. ùΣÚêûΖΞôΘλ 

 3. ÖηΠ°Ü Ïû[ΣôÓ 

 4. ÏρΖιΘτûΤ 

 
  



23. “Those who are unable to do their own works, who needs to be 
supervised, attention of others are required are called as 
persons with intellectual Disabilities”. – is derived by 

 1. Smith 
 2. Benda 
 3. Louis Pasteur 
 4. Einstein 

 »»Υôςôο ÑΥΤôΚ ΘΤÕ Σ∞ΚûΖ ùΜµΥ 
ΒΥΩôúΘô+ ΥôÚχÏ Τσ[ΞνΚ↓τ ΚηΚô∞κ×+ 
ΚΞ±κ× ≅Ξ′ΥúΤô ≅ΞνΚûΖ ÖηΠ°Ü 
Ïû[ΣôÓ ∆ûΟúΥôν ΦτΣνµµ Φ∴ ΞûςΥû[ 
ùΜµΘΞν 

 1. υ♥ι 

 2. ùΣηΟô 

 3. í♠υ ΣôυΟν 

 4. Ητυ≈τ 

  
24. To assess Autism, this test is to be administered 
 1. BERA 
 2. BLOOD 
 3. ISAA 
 4. GLAD 
 Αγ⁄Μλ ΦτΣûΘ Τƒκ♦Ο ΒεúΜôΘû∴ 

ùΜµΥκΣÓ€[Õ 

 1. BERA úΜôΘû∴ 

 2. BLOOD úΜôΘû∴ 

 3. ISAA úΜôΘû∴ 

 4. GLAD úΜôΘû∴ 

 
  



25. Hellen Keller who is deaf and blind was born in this year 
 ΚôÕ úΚΖôûΤ Τσßλ Κη ΣôνûΞΥσ[ ùΩτ 

ùΚοΩν ♦[ϕΘ ΞÚΟλ 

 1. 1970 
 2. 1870 
 3. 1880 
 4. 1980 
 
26. 3rd December of every year is observed as  
 1. Down’s Syndrome Day 
 2. Autism Day 
 3. International Day for Persons with Disabilities 
 4. Braille Day 

 ΙπùΞôÚ ⁄ΜλΣν ΤôΘλ 2Αλ úΘƒûΥ ΒϕΘ 
ΡôΖôΚ ùΚôηΟôÓΞν 

 1. ΟÜτ ′τγúςôλ Ρôρ 

 2. Αγ⁄Μλ Ρôρ 

 3. ΜνΞúΘΜ Τôσßι ƒ[∴ô↓Κρ Ρôρ 

 4. ♦ùςµ← Ρôρ 

 
 
 
 
 
 
 
 
 
 
 



27. Having two or more disabilities is called  
 1. Multiple Disability 
 2. Autism 
 3. Intellectual disability 
 4. ADHD  
 ΒςηÓ ≅οΩÕ ≅ΘσÏ úΤσΣγΟ Ïû[ΣôÓΚûΖ 

ùΚôη⁄ÚκΣûΘ ΒπΞôß ≅ûΨκΣν 

 1. ΣοΞûΚ Ïû[ΣôÓ 

 2. Αγ⁄Μλ 

 3. ÖηΠ°Ü Ïû[ΣôÓ 

 4. ADHD 

 
 

28. How can students help peers with special needs 
 1. Ignore needs 
 2. Avoid them 
 3. Ask how to help 
 4. Do nothing 
 ΤôΠΞνΚρ+ ′[κ× úΘûΞΚρ ∆ûΟΥ ΜΚ 

ΤôΠΞνΚÞχÏ ΒπΞôß ∆Θ↑ ùΜµΞν 

 1. ≅ΞνΚ↓τ úΘûΞΚûΖ ΚηÓùΚôρΖ 
áΟôÕ 

 2. ≅ΞνΚûΖ ↑Ωχ€ ûΞχΚ úΞηÓλ 

 3. Φπ↑Θ ∆Θ↑ úΘûΞ Φ∴ úΚγΟ°Θο 

 4. ΦÕÜλ ùΜµΘο áΟôÕ 

 

 



29. Students with ‘Attention Deficit Hyperactive Disorder’ are 
related to 

 1. Intellectual Disability 
 2. Hearing Impairment 
 3. Specific Learning Disabilities 
 4. Autism 
 ΚΞ∴χÏû[Ü Τσßλ ∆Υν ÑßÑßκûΣ  

 ùΣσßρΖ ΤôΠôχΚνΚρ ΒΘσÏ ùΘôΟν×ûΟΥΞν 

 1. ÖηΠ°Ü Ïû[ΣôÓ 

 2. úΚγΟο Ïû[ΣôÓ 

 3. Ï°κ♦γΟ Κσ[ο Ïû[ΣôÓ 

 4. Αγ⁄Μλ 

 
 
30. To identify the reading disability these tests are to be 

administered 
 1. Unit tests 
 2. Interview 
 3. Diagnostic tests 
 4. Physical tests 
 Σ⁄ιΘο Ïû[ΣôγûΟ ΚηΟ°Υ ΒπΞô[ô∴ 

úΜôΘû∴ΚûΖ ♣ΚθιÕΞν 

 1. ≅ΩÏ úΜôΘû∴Κρ 

 2. úΡνΚôΠο  

 3. Ïû[Υ° úΜôΘû∴Κρ 

 4. ∆Οο úΜôΘû∴Κρ 

 

 

 



 

31. •θχΚôÔλ ΣιƒûΥκ Σ⁄ιÕ ùΚôÓχΚκΣγΟ 
↑∴ô↑σÏ ↑ûΟΥ↓− 

 ΣιÕκΣôγ⁄àρ  ≅ΚκùΣôÚρ Σσ°Υ∴ ØοûΩκ 
ΣôγÓ+Ï°φ′κΣôγÓ+ Σγ⁄∴κΣôûΩ ΦτΣ∴− Τσ[ 
ΓÝΣôγÓΚρ ×[κùΣôÚûΖ ΘÝ↑Υ∴− 
≅ΞσßρÞλ ΗϕÕ ΣôγÓΚρ ΑσßκΣûΟ♠û∴ 
ΜôνϕΘûΞΥôÏλ− 

 ΣιÕκΣôγ⁄ο ×[κùΣôÚρ ΘÝ↑Υ ΣôγÓΚρ 
ΒιΘû∴ΥôÏλ 

 1. êτß 

 2. ΗϕÕ 

 3. ΒςηÓ 

 4. ΓÝ 

 

32. •θχΚôÔλ ΣιƒûΥκ Σ⁄ιÕ+ ùΚôÓχΚκΣγΟ 
↑∴ô↑σÏ ↑ûΟΥ↓− 

 ≅↔εΜϕƒς ×ςôΠλ Σô⁄Υ ÅςΚ↑ςôΥν+ Σôη⁄Υ 
ΡôγÓ Ροí↔ο ùΣôσùΚôοΩν Τς♦ο ♦[ϕΘΞν− 
ΒΞν ΑÑΚ↑ ΣôÓΞƒο ΞοΩΞν− 

 ‘ΑÑΚ↑’ ΦτΣΘτ ùΣôÚρ 

 1. ùΤÕΞôΚ Κ↑ΣôÓλ Ασ[ο 

 2. ↑ûςΞôΚ Κ↑ΣôÓλ Ασ[ο 

 3. Τς×χΚ↑ûΘ 

 4. ΞΜ∴χΚ↑ûΘ 

 

  

 



33. •θχΚôÔλ ùΜµÙûΖκ Σ⁄ιÕ− ↑∴ô↑σÏ 
↑ûΟΥ↓− 

  ΞηûΤ♠ úΩÙΖι ƒηûΤ♠úΩ , Τ∴ι 

    ΘηûΤ♠ úΩΤƒ ÖηûΤ♠úΩ 

 ΒκΣôΟ←ο ‘ΞηûΤ’ ΦτΣΘτ ùΣôÚρ 

 1. ùΚôûΟ 

 2. Ξ←ûΤ 

 3. ≅°Ü 

 4. Ï↓νε′ 

 

34. •θχΚôÔλ ΣôΟûΩκ Σ⁄ιÕ+ ↑∴ô↑σÏ 
↑ûΟΥ↓− 

       ↑ηÔχÏκ Σ[κΣÕúΣôσ ΚûΘΚρ ùΜôοÅν 

     ↑ÓΘûΩùΥτ ÀνΚÚûΠ ùΞρΖ ùΤτÀν 

   ùΣηÔχÏ ↑ÓΘûΩ¿ ↔οûΩ ùΥτ[ôο 

     ♦τ±ϕΘ ÜΩ€±úΩ ΞôθχûΚ ♠οûΩ  

 úΤσΚôÔλ ΣôΟÛχÏκ ùΣôÚιΘΤô∴ ΘûΩκ× 

 1. ΘôµûΤ 

 2. ♣Κν 

 3. ùΣη ↑ÓΘûΩ 

 4. ùΣη Κο↑ 

   

  



35. ùΞσ°Ùλ úΘôο↑Ùλ , ΦτΣÕ ΒπΞûΚ 
ΒûΠε ùΜοΩôÏλ 

 1. úΡ↔ûΠ  

 2. Φƒ↔ûΠ 

 3. ∆ΥνƒûΠ 

 4. ùΜ°♠ûΠ 

   

36. ¿δΚο+ Ικ×+ ΦοûΩ+ ΓÕ úΣôτ[ ùΣôÚρΚ↓ο 
ΞÚλ úΞσßûΤ 

 1. êτ[ôλ úΞσßûΤ 

 2. ΡôτΚôλ úΞσßûΤ 

 3. ΗϕΘôλ úΞσßûΤ 

 4. Α[ôλ úΞσßûΤ 

  

  



37. •θχΚôÔλ áσßΚûΖ ΚΞ±− ΦÕ Μ↔> ΦÕ 
ΘΞß> ΚηÓ♦⁄− 

 áσß A. ùΞηΣô ùΜκΣο ϑûΜ ∆ûΟΥÕ 

 áσß B. Ξφ′κΣô ÕρΖο ϑûΜ ∆ûΟΥÕ 

 1. áσß A Μ↔+ áσß B ΘΞß 

 2. áσß A Τσßλ B ΘΞß 

 3. áσß A ΘΞß B Μ↔ 

 4. áσß  A Τσßλ  B Μ↔ 

   

38. ↑û∴Υôο ↑û∴Υôχ€χ úΚôΟο Ρû∴ΚÜρ 

 Υôû∴Υôο Υôû∴Υôι Θσß− 

, ΒχÏ[γΣô↑ο ≅ûΤϕÕρΖ ≅∞ 

 1. úΞσßûΤ ∆ÚΞΚ ≅∞ 

 2. ΒΥο× Ρ↑σ′ ≅∞ 

 3. ΘτûΤ ≅∞ 

 4. ∆ΞûΤ ≅∞ 

 

39. ‘Φο’ Φàλ ùΜôο←τ ùΣôÚρ 

 1. ΣΚο 

 2. ΒςÜ 

 3. ♦τ±ςÜ 

 4. Øτ±ςÜ 

 

 

 

 
 



40. ΒÚ↑û∴ , ΒιùΘôûΚε ùΜôοûΩ ↑↔ιÕχ 
Κôη− 

 1. ≅?°û∴+ ∆ΥνƒûΠ 

 2. úΡ↔ûΠ+ Φƒ↔ûΠ 

 3. Ρο↑ûΠ+ ¾↑ûΠ 

 4. Φƒ↔ûΠ+ ùΜ°♠ûΠ 

 

41. •θχΚôÔλ ↑ΩδÏΚ↓τ ΒΖûΤκùΣΥν ↑û∴ 
Τς×ε ùΜôσΚ↓ο ΘΞ[ô∴ûΘχ ΚηÓ♦⁄− 

 1. ÏςδÏχÏγ⁄ 

 2. ÏƒûςχÏγ⁄ 

 3. ΑγÓχÏγ⁄ 

 4. ×←χÏγ⁄ 

  

42. ∆ΩÏ €ΖνϕΘτ∴ ∆ÚùΚÝ ΞδΚλ 

   Φàλ ΣôΟο Ξ↔Κρ ΒΟλùΣσ[ èο 

 1. ×[Ρôòß 

 2. ≅ΚΡôòß 

 3. Κ←ιùΘôûΚ 

 4. Σγ⁄∴κΣôûΩ 

   

 43. ØιÕςôΤ←δΚι úΘΞν ΡΟιƒΥ ΒΘ→τ ùΣΥν 

  1. Κôϕƒ≥ 

 2. Βςô⊥ô≥ 

 3. úΡΘô≥ 

 4. úΡÚ≥ 

  



 
 44. Τ∞úΤΚûΩ ûΚ♠ο ΒÚϕΘ ≅ØΘÑς♦♠ο 

∆ΠÜ ΒγΟ ùΣη 

 1. Αƒûς 

 2. ′ιƒûς 

 3. ΚôΥΜη⁄ûΚ 

 4. ¾ΞƒΩûΚ 

 

 45. ‘ùΣη∞τ ùΣÚûΤ’ Φàλ èûΩ ΒΥσ°ΥΞν 

 1. Ø−Ξ 

 2. ƒÚ−↑−Κ 

 3. ⁄−úΚ−′  

 4. Βςô−♦−úΜÕ 

 

46. ‘′ßΚûΘ Ττ∴τ’ , Φ∴ ≅ûΨχΚκΣÓΣΞν 

 1. ΚηΠΘôΜτ 

 2. Ξô∞ΘôΜτ 

 3. Ø⁄ΥςΜτ  

 4. ×ÕûΤκ♦ιΘτ 

 

47. ‘ΣιÕ ∗ ΒςηÓ’ , ΒεùΜôοûΩκ úΜνιÕ ΦÝΘχ 
€ûΟκΣÕ 

 1. Στ±ùςηÓ 

 2. Στ±ςηÓ 

 3. Στù∴ηÓ  

 4. Στ∴ηÓ 

 



 

48. •θχΚôηΣ∴Ξσßρ ≅?°ûΠχÏ Μôτ[ôΞÕ 

 1. ′Ñ 

 2. ùΣη 

 3. ΣÑ  

 4. Αη 

 

49. ‘≅Ξρ’ ΦτΣÕ Βπ↑ΟιûΘχ Ï°χÏλ 

 1. ΣΟνχûΚ 

 2. ΘτûΤ 

 3. Øτ±ûΩ  

 4. ΑÓ∆ 

 

 50. ‘Θ♥ΨςΜτ’ Φàλ ùΜôοÛχÏ↔Υ Τôιƒûς ≅ΖÜ 

 1. 5  

 2. 3 1
2

 

 3. 5 1
2

 

 4. 4 1
2
 

 

51. ΙÚ ùΣôÚρ Ï°ιΘ ΣΩ ùΜôο+ ΣΩ ùΣôÚρ 
Ï°ιΘ ΙÚ ùΜôο ΦτΣÕ ΒπΞûΚε ùΜôοΩôÏλ 

 1. ΒΥσùΜôο 

 2. ƒûΜεùΜôο 

 3. ƒ↔ùΜôο  

 4. ΞΟùΜôο 



 

52. ùΣôÚιÕΚ− 

  1. ΣϕΘν   , ≅− ØΘσúΣô← 

  2. ûΤφÑ   , Α− ØσßκúΣô← 

  3. ≅φÑ    , Β− ΒûΟκúΣô← 

  4. ≅ûςΥν   , Χ− ΚûΟκúΣô← 

 1. 1,Χ+ 2,Β+ 3,Α+ 4,≅ 

 2. 1,Χ+ 2,≅+ 3,Α+ 4,Β 

 3. 1,Χ+ 2,Α+ 3,≅+ 4,Β   

 4. 1,Β+ 2,Χ+ 3,Α+ 4,≅ 

 

53. ùΤο←∴ιƒσΚô∴ Β∴ ΦÝιÕ ΒΟλùΣ[ôΘ ùΜôο 

 1. ùΘτ[ο 

 2. ΜϕΘ∴λ 

 3. ≅λ×  

 4. Τη∞ο 

 

54. ‘Τôν×’ ΦτΣÕ ΒπΞûΚχ Ïσ°ΥÛΚςΤôÏλ 

 1. ΒûΟιùΘôΟν 

 2. ΞτùΘôΟν 

 3. ùΤτùΘôΟν  

 4. ∆♠νιùΘôΟν 

 

 

 

 



 

55. Ξôµ↑γÓκ Σ⁄χÏλúΣôÕ ΒπΞôσ[ο 
♥ÏƒΥô€[Õ 

 1. ÑÚχ€ ΦÝÕλ Ασ[ο 

 2. ΣûΟκΣôσ[ο 

 3. ΚσΣû∴ Ασ[ο  

 4. ùΣôÚÞΠν Ασ[ο 

 
56. •θχΚôÔλ áσßΚûΖ ΚΞ±− ΦÕ Μ↔> ΦÕ 

ΘΞß> ΚηÓ♦⁄− 
 áσß A9 ΣΥτΣôγ⁄Ûλ+ ùΤô→ΥûΤκ♦Ûλ  
   ùΘ↓Ξô∴ úΞßΣôγûΟ ùΚôηΟ ΒÚ  
   ΞΨχÏΚûΖχ ùΚôη⁄ÚκΣÕ ΒςγûΟ  
   ΞΨχÏ Φ∴κΣÓλ  

 áσß B9 ΦÝιÕ Ξ⁄Ξλ ùΣσßρΖ ΦοΩô  

   ùΤô→ΚûΖÙλ ΒςγûΟ ΞΨχÏ 
Φ∴κΣÓλ 

 1. áσß A ΘΞß áσß B Μ↔ 

 2. áσß A Μ↔ áσß B ΘΞß 

 3. áσß A Τσßλ B Μ↔  

 4. áσß A Τσßλ B ΘΞß 

 

57. úΤ±ûΩ Σρ↓+ Κοí↔Κ↓ο ΒλØû[ 
♦τΣσ[κ ΣÓ€[Õ 

 1. ↑ƒΞÚ Øû[ 

 2. ↑↔Üûς Øû[ 

 3. ùΜΥοƒγΟ Øû[  

 4. ↑ûΖΥôγÓ Øû[ 

 



58. ‘Ρôτ Κσ€ú[τ Φτß ùΜôοΞûΘχ Κôγ⁄Ûλ+ 
Ρôτ ≅àΣΞδΚûΖκ ùΣß€ú[τ Φτß 
ÏΨϕûΘΚρ á°∴ôο+ ≅Θû∴úΥ ∆ηûΤΥô∴ 
Κο↑’ Φτß á°ΥΞν 

 1. ⊥ôτå♠ 

 2. ìúΜô 

 3. Τôη⁄úΜô↔  

 4. ùΣυΟΩô′ 

 

59. ΤôΠΞνΚρ ΦϕùΘϕΘ ♣ûΩΚ↓ο ΦπùΞπ 
Øû[ΚûΖχ ûΚΥôÞΞÕ ΦτΣûΘÙλ ΒÕ 
ΞûςΥßχ€[Õ 

 1. ΣôΟιƒγΟλ  

 2. ΣôΟ èο  

 3. ΤƒκÀÓ 

 4. ΣôΟ ΓσΣôÓ 

 

60. ΒûΠΥιƒο ÖûΨϕΘ ØΘο ΒϕƒΥ ùΤô→ 

 1. Βϕƒ 

 2. Θ♥θ 

 3. ΞδΚλ  

 4. ùΘÛδÏ 

 

 

 

 

 

 



 
 

61. Identify the grammatically correct sentence. 
 1. She is beautiful then her. 
 2. She is beautiful than herself. 
 3. She is more beautiful than Gita. 
 4. She is beautiful than Gita. 

 

62. Identify the correct verb form for the sentence: 
 Krish and Radha ________ on their way to the airport. 
 1. is 
 2. are 
 3. have 
 4. was 

 

63. Choose the term that refers to the study of celestial bodies: 
 1. Geology 
 2. Astronomy 
 3. Astrology 
 4. Geography 

 

64. Choose the correct modal verb to express possibility: 
 1. can 
 2. must 
 3. might 
 4. should 

  



65. Choose the correct capitalization for the start of a sentence: 
 1. the dog is barking. 
 2. The dog is barking. 
 3. the Dog is barking. 
 4. The Dog is barking. 

 

66. The first section of a biographical sketch is typically about: 
 1. Career and achievements 
 2. Personal life 
 3. Legacy 
 4. Introduction 

 

67. Choose the sentence in the present perfect continuous tense. 
 1. She has lived here for five years. 
 2. They are watching a movie. 
 3. He has been working on the project for hours. 
 4. I will finish my homework soon. 

 

68. Choose the helping verb used in the future continuous tense. 
 1. has 
 2. had 
 3. is 
 4. will be 
 

  



69. “I enjoy reading novels.” 
 Identify the type of sentence: 
 1. Imperative 
 2. Interrogative 
 3. Declarative 
 4. Exclamatory 
 
70. She was tired from working all day. 
 Choose the correct compound sentence transformation of the 

sentence above. (imaginary sentence) 
 1. She  was  tired  from  working  all  day,  and  she  went  to  

bed early. 
 2. She was tired from working all day, as she was asleep. 
 3. She  was  tired  from  working  all  day,  because  she  was  

exhausted. 
 4. She  was  tired  from  working  all  day,  however,  she  

 stayed awake. 
 
71. Choose the sentence that contains a relative clause: 
 1. “She laughed loudly.” 
 2. “He saw the movie.” 
 3. “The man who lives next door is very friendly.” 
 4. “They went to the beach.” 

 

72. The new policy was announced last week; ________, it has 
already made a significant impact. 

 Choose the option that fits the blank. 
 1. nevertheless 
 2. therefore 
 3. despite 
 4. similarly 

 



73. Choose the correct sequence of the words in which they occur 
in a dictionary. 

 i. Shaky 
 ii. Space 
 iii. Shallow 
 iv. Small 
 1. i, iii, iv, ii 
 2. i, ii, iii, iv 
 3. iii, i, iv, ii 
 4. iv, i, iii, ii 

 

74. Choose the correct spelling of the word. 
 1. embarasment 
 2. embarrasment 
 3. embarassmant 
 4. embarrassment 

 

75. Select the example where the indefinite article is used in the 
sense of a ‘certain’ 

 1. A lion is fierce. 
 2. A Mr. Smith is online. 
 3. An uncle of yours asked about you. 
 4. A book was taken by the boy. 

 

76. She finished the race _____ her competitors. 
 Choose the correct preposition that fits the blank. 
 1. in back of 
 2. in front of 
 3. ahead of 
 4. contrary to 



77. “How can you possibly imagine he’s a crook? He looks so 
ordinary!” 

 Choose the synonym that means ‘crook’. 
 1. thief 
 2. lawman 
 3. innocent 
 4. gentleman 

 

78. A headmaster once told his father that what Einstein chose as a 
profession wouldn’t matter, because “he’ll never make a 
success at anything.” 

 Choose the antonym of the word “success”. 
 1. achievement 
 2. failure 
 3. accomplishment 
 4. triumph 

 

79. Choose the indirect speech of the following sentence: 
 He said to me, “What are you doing?” 
 1. He asked me what am I doing. 
 2. He asked me what I am doing. 
 3. He asked me what I was doing. 
 4. He asked me what was I doing. 

 

  



80. Despite the challenges, she decided to _______ her dreams 
and pursue them with determination. 

 Choose the phrasal verb that fits the blank. 
 1. hold on to 
 2. look out for 
 3. turn down 
 4. come up with 
 
81. Identify the plural noun from the following: 
 1. Physics 
 2. Politics 
 3. Gymnastics 
 4. Police 
 
82. Choose the sentence in which the interjection expresses 

excitement. 
 1. Oh no! I forgot my homework. 
 2. Ouch! That’s a big question. 
 3. Yay! We’re going on vacation. 
 4. Hey! Watch out. 
 

  



83. Read the following passage carefully. 

 India’s education system is a blend of ancient wisdom and 
modern knowledge. The ancient universities of Nalanda and 
Takshashila were renowned centers of learning. Today, 
institutions like the Indian Institutes of Technology (IITs) and 
Indian Institutes of Management (IIMs) continue to uphold 
high standards of education. India’s emphasis on education 
drives innovation and research across various fields. 

 The ancient universities of Nalanda and Takshasila were 
known for their _______. 

 Choose the option that fits the blank. 
 1. sports facilities 
 2. medical research 
 3. centers of learning 
 4. architectural design 
  

84. Read the following passage carefully. 

 India’s education system is a blend of ancient wisdom and 
modern knowledge. The ancient universities of Nalanda and 
Takshashila were renowned centers of learning. Today, 
institutions like the Indian Institutes of Technology (IITs) and 
Indian Institutes of Management (IIMs) continue to uphold 
high standards of education. India’s emphasis on education 
drives innovation and research across various fields. 

 Identify the modern institutions mentioned in the passage: 
 1. Nalanda university and Takshashilauniversity 
 2. Harvard university and MIT 
 3. Oxford university and Cambridge university 
 4. Indian Institute of Technology (IITs) and Indian 

 Institutes of Management (IIMs) 
 
 
 
 



85. Choose the best option that fits the blank. 
 Oral communication involves _______ and understanding. 
 1. writing 
 2. reading 
 3. speaking 
 4. composition 
 
86. Identify the activity that promotes comprehension and content 

mastery through active engagement with the test. 
 1. Reflective reading 
 2. Mechanical reading 
 3. Loud reading 
 4. Combined reading 
 
87. Identify the advantage of the Direct Method. 
 1. Focus on literature 
 2. Natural learning progression 
 3. Clarity in meanings 
 4. Controlled vocabulary 
 
88. Identify an advantage of micro-teaching: 
 1. Focuses on multiple skills at once 
 2. Provides immediate and constructive feedback. 
 3. Uses 2 hour periods 
 4. Required no feedback devices 

  



89. English is the most popular language on the _______. 
 Choose the best option that fits the blank. 
 1. television 
 2. internet 
 3. radio 
 4. newspapers 

 

90. Identify a method to enhance the ability to speak English. 
 1. Writing essays 
 2. Reading silently 
 3. Translating texts 
 4. Using greetings, dialogues and role plays  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
91. Anand bought a watch for `682. This amount includes 

10%Tax on the marked price. Then the marked price is (in 
Rs.) 

 Α∴ϕι ΦτΣΞν ΙÚ Κ⁄ΚôςιûΘ `682 χÏ 

Ξôδ€∴ôν− ≅ƒο Ï°ιΘ ↑ûΩ♠τ ÁÕ  

10% Ξ↔ úΜνχΚκΣγÓρΖÕ Φ±ο Ï°ιΘ ↑ûΩ   

 (ìΣô♠ο) 

 1. 600 
 2. 610 
 3. 620 
 4. 630 
 

92. The area of Trapezium Shaped field is 240 m2. The distance 
between two parallel sides is 15m and the length of one of the 
parallel sides is 20m. Then the length of the other parallel side 
is (in meters) 

 Μ↔ΞΚλ  Ξ⁄↑ο  ∆ρΖ  ΙÚ  ♣Ωιƒτ  
ΣςκΣΖÜ  240 Μ−Á− úΤÛλ ΒςηÓ ΒûΠ 

ΣχΚδΚÞχÏ ΒûΟ♠ÛρΖ çςλ 15Á−  Τσßλ 

ΙÚ ΣχΚιƒτ ¿Ζλ 20Á− Φ±ο ΒςηΟôΞÕ 

ΒûΠ ΣχΚ ¿Ζλ (ÁγΟ↔ο) 

 1. 5 
 2. 35 
 3. 12 
 4. 300 
  

 

 

 

 
 



93. If AÐ and CÐ are opposite angles in a parallelogram ABCD 
then the statement that always true is  

 ΒûΠΚςλ ABCD ο AÐ , CÐ  Α€ΥûΞ Φƒùςƒ↔ο 

∆ρΖ úΚôΠδΚρ Φ±ο •θχΚηΟ áσßΚ↓ο 
ΦκùΣôÝÕλ ùΤµ 

 1. 90A CÐ - Ð = °  
 2. 180A CÐ + Ð = °  
 3. 360A CÐ + Ð = °  
 4. 0A CÐ - Ð = °  
 
94. [ ]2 29 (3 24) 27 ( 8)x y z xy zé ù- ¸ -ë û  

 1. ( )x y z+  
 2. yz  
 3. xz  
 4. xy  
   

95. The product of a non - zerowhole number and its successor is 
always 

 1. an even number 
 2. an odd number 
 3. a prime number 
 4. a composite number 
 ΙÚ éϖ≥ΥΤοΩôΘ ØÝ Φη Τσßλ ≅Θτ 

ùΘôΟ↔ Α€ΥΞσ°τ ùΣÚχΚσΣΩτ ΦκùΣôÝÕλ 

 1. ϑν ΒςγûΟ Φη 

 2. ϑν Ισû[ Φη 

 3. ΙÚ ΣΚô Φη 

 4. ΙÚ ΣÏ Φη 

  

 

 

  



96. When a die is thrown, the probability of getting a number 
which is a multiple of both 2 and 3 is  

 ΙÚ ΣΚûΟûΥ ∆ÚγÓλ úΣôÕ+ €ûΟχÏλ 
Φη 2 Τσßλ 3 Α€Υ Βςη⁄τ ΤΟδ€ΥôΚ 

ΒÚκΣΘσΚô∴ ♣ΚθΘΚÜ 
 1. 1 

 2. 1
3

 

 3. 1
6

 

 4. 0 
 
 
97. The smallest number which must be added to 70169305 so as 

to obtain a sum which is divisible by 11 
 11 Αο ΞÏΣΟ úΞηÓùΤ±ο 70169305 ÜΟτ áγΟ 

úΞη⁄Υ ♥Κε′°Υ Φη 
 1. 3 
 2. 4 
 3. 5 
 4. 6 
   

98. The difference in the measures of a pair of complementary 
angles is 24°. Then the angles are 

 ΙÚ ú⊥ô⁄ ♣ςκ× úΚôΠδΚ↓τ ↑ιƒΥôΜλ 24° 

Φ±ο ≅χúΚôΠδΚρ 
 1. 30°, 54° 
 2. 78°, 102° 
 3. 33°, 57° 
 4. 24°, 48° 
 
   

 

 



99. The median of first 5 composite numbers is  
 ØΘο 5 ΣÏ ΦηΚ↓τ ΒûΟ♣ûΩ 

 1. 5 
 2. 6 
 3. 7 
 4. 8 
  

 
100. The volume of a cube with side 11cm is (in cm3) 
 11 ùΜ−Á− ΣχΚ ≅ΖÜ ∆ûΟΥ Κ∴εΜÕςιƒτ Κ∴ 

≅ΖÜ (Κ−ùΜ−Á ,ο) 

 1. 121 
 2. 1331 
 3. 12321 
 4. 11 
 
 
101. Which of the following numbers is a prime number? 
 •θχΚηΟΞσ°ο ΣΚô Φη 
 1. 81 
 2. 87 
 3. 91 
 4. 97 
 
 

102. ( ) 23 64 2- -¸ =  

 1. 16 
 2. 1 
 3. 64 

 4. 1
64  

 

 

 

 

 



   

103. If 23% of 40 is x then 40% of 23 is  
 40 ο 23 ΜΘÅΘλ x Φ±ο 23 ο 40 ΜΘÅΘλ 

 1. x 

 2. 1
x

 

 3. 9x 

 4. 
9
x

 
 
 

104. There are 40 students in a class. Number of girls are 10 more 
than the number of boys. Then the ratio of the number of girls 
to number of the boys is 

 ΙÚ ΞÏκ♦ο 40 ΤôΠôχΚνΚρ ∆ρΖ∴ν− ΤôΠ↑Κ↓τ 

Φη∞χûΚ ΤôΠΞνΚ↓τ Φη∞χûΚûΥ 
↑Ο 10 ≅ƒΚλ Φ±ο ΤôΠ↑Κ↓τ Φη∞χûΚ 

Τσßλ ΤôΠΞνΚ↓τ Φη∞χûΚ ΜΘÅΘλ 
 1. 1 : 4 
 2. 3 : 5 
 3. 5 : 3 
 4. 4 : 1 
 
 
105. A toy was bought for `72 and sold at `80. The profit percent is 
 `72 χÏ Ξôδ€Υ ùΣôλûΤûΥ `80 χÏ ↑σ[ôο 

ΒΩôΣ ΜΘÅΘλ 

 1. 111
9

 

 2. 10 
 3. 8 

 4. 110
9

 

    

 

  



106. The Area of a Rhombus whose diagonals are of  
lengths 24cm and 38cm is (in cm2) 

 ΙÚ ΜôµΜÕςιƒτ êûΩ↑γΟδΚ↓τ ¿Ζλ 
24 ùΜ−Á− Τσßλ 38 ùΜ−Á− Φ±ο ≅Θτ 

ΣςκΣΖÜ  (Μ−ùΜ−Á− ,ο) 

 1. 345 
 2. 456 
 3. 567 
 4. 912 
 

 
107. `5000 is invested at 10% simple interest rate p.a. Interest at the 

end of 3 years is (in Rs.) 
 Αη⁄σÏ 10% Θ±Ξγ⁄ ÅΘιƒο `5000 Η ØΘÄÓ 

ùΜµΘôο 3 ΞÚΟ Ø⁄↑ο €ûΟχÏλ Ξγ⁄ 

(ìΣô♠ο) 

 1. 1500 
 2. 150 
 3. 500 
 4. 1000 
  

 
108. The order of Rotational symmetry of a Regular Hexagon is 
 ΙÚ ΙÝδΚô∴ ≅ßδúΚôΠιƒτ ÑΨο ΜΤε≠νûΤ 
 1. 4 
 2. 5 
 3. 6 
 4. 0 
 
 
 
 
 



109. An electric pole of 18m high casts a shadow of 24m. Under 
similar condition the height of a Building that casts a shadow 
of length 18m is (in meters) 

 18 ÁγΟν ∆ΥςØûΟΥ ΙÚ ♥τΚλΣΤô∴Õ 24 ÁγΟν 

¿ΖØûΟΥ ♣ΨûΩ ΓσΣÓιÕ€[Õ− ≅úΘ úΡςιƒο 
ΙÚ Κγ⁄ΟΤô∴Õ  18 ÁγΟν ¿ΖØûΟΥ ♣ΨûΩ 

ΓσΣÓιƒ∴ôο ≅χΚγ⁄Οιƒτ ∆Υςλ (ÁγΟ↔ο) 

 1. 12 
 2. 13.5 
 3. 12.5 
 4. 13 
   

110. Number of leap years between 1887 and 1897 are …. 
 1887 Τσßλ 1897 χÏ ΒûΟ♠ÛρΖ Äκ 

ΑηÓΚ↓τ Φη∞χûΚ 
 1. 3 
 2. 10 
 3. 4 
 4. 11 
  

 

111. Number of zeros in 100 crore, 100 million, 100 lakh and 10 
Billion respectively 

 100 úΚô⁄Κρ+ 100 ♥ο←ΥτΚρ+ 100  ΒΩγΜδΚρ 

Τσßλ 10 ♦ο←ΥτΚ↓ο ∆ρΖ éϖ≥ΥδΚ↓τ 

Φη∞χûΚ  

 1. 9, 8, 7, 10 
 2. 7, 8, 9, 11 
 3. 9, 7, 10, 8 
 4. 11, 7, 8, 9  

 

 



112. 2 22 3, 2 4A x x B x x= + - = - + and 2 3 2C x x= + - then the 
value of A B C- + is  

 2 22 3, 2 4A x x B x x= + - = - + Τσßλ 2 3 2C x x= + -  

Φ±ο A B C- +  τ Τƒκ× 
 1. 6 9x +  
 2. 22 6 9x x- +  
 3. 6 9x -  
 4. 22 6 9x x- - -  
 
113. For any polyhedron Euler’s formula is  
 ΓúΘàλ ΙÚ ΣτØΚιƒσΚô∴ Α♠Ων ↑ƒ 
 1. E + F – V = 2 
 2. F – E – V = 2 
 3. E – F + V = 2 
 4. F + V – E = 2 
 
114. The mode of 3, 7, 5, 3, 7, 5, p is 7 then the value of p is 
 3, 7, 5, 3, 7, 5, p Φàλ ↑Ξςιƒτ ØΚÓ 

 7 Φ±ο p τ Τƒκ× 

 1. 3 
 2. 5 
 3. 7 
 4. 8 

 
  



115. The problems faced by the students in ‘Problem solving 
method’ 

 a. Unable to do the calculations properly 
 b. Defect in selecting a proper method 
 c. Students loss their self-Discipline 
 d. Unable to analyse the problem properly 
 ‘♦ςεΜû∴ ¾ν Øû[’ ♠ο ΤôΠΞνΚρ 

ΦƒνùΚôρÞλ ΒΟνΣôÓΚρ 
 a. ΚΠχ•ÓΚûΖ Μ↔ΥôΚ ùΜµΥôΤ←ÚιΘο 
 b. Μ↔Υô∴ Øû[ûΥ úΘνϕùΘÓκΣƒο 

Ïû[ΣôÓ 
 c. ΤôΠΞνΚ↓ο ÑΥ ΙÝχΚλ Ïû[Θο  
 d. ♦ςεΜû∴ûΥ Μ↔ΥôΚ ΣÏιΘ°Υ Ø⁄ΥôΤο 

ΒÚκΣÕ 
 1. a, b, c 
 2. b, c, d 
 3. a, b, d 
 4. a, c, d 
  

  



116.  “Hanshita,  a  8th class student proved 2 110
100

- =  using the 

formula 1 ( 0).n
na a

a
- = ¹ ” This statement belongs to 

 1. Inductivism 
 2. Deductivism 
 3. Generalisation 
 4. Logical Thinking 

 ≅τ×Θô Φàλ 8Αλ ΞÏκ× ΤôΠ↑ 
1 ( 0)n

na a
a

- = ¹

Φàλ ãιƒςιûΘκ ΣΥτΣÓιƒ+ 2 110
100

- =  Φ∴ 

♣ì♦ιΘο ΒΘû∴ ΜôÚλ 

 1. ↑ƒΞÚ↑Υο 

 2. ↑ƒ↑ΖχΚ↑Υο 

 3. ùΣôÕûΤκΣÓιΘο 

 4. ΘνχΚ ′ϕΘû∴ 

 
117. “ Explaining Mathematical Methods”  - related to 
 1. Problem solving 
 2. Connection 
 3. Communication 
 4. Reasoning & Proof 

 »»Κ∞Θ Øû[ΚûΖ ↑Ξ↔ιΘοµµ  ΦτΣÕ ΒΘσÏ  

ùΘôΟνΣô∴Õ 
 1. ♦ςεΜû∴ ¾ν 

 2. ùΘôΟν×ΣÓιÕΘο 

 3. ΘΚΞοΚρ 

 4. ΚôςΠλ áßΘο Τσßλ ♣ì♦ιΘο 



118. Observe the following 
  1 ´ 1 = 1 
  11 ´ 11 = 121 
  111 ´ 111 ´ 111 = 12321 
  1111 ´ 1111 ´ 1111 = 1234321 
 The above model belongs to 
 1. Recreational value 
 2. Readiness value 
 3. Cultural value 
 4. Disciplinary value 
 •ÝρΖΞσû[ ∆σßúΡôχÏ− 
  1 ´ 1 = 1 
  11 ´ 11 = 121 
  111 ´ 111 ´ 111 = 12321 
  1111 ´ 1111 ´ 1111 = 1234321 

 úΤσΚηΟ ≅ûΤκ× •θχΚηΟΞσ°ο ΦλΤƒκ×  

 1. ùΣôÝÕúΣôχÏ Τƒκ× 

 2. ΘΥôνΣÓιÕλ Τƒκ× 

 3. ΚΩôεΜôς Τƒκ× 

 4. ΙÝχΚ Τƒκ× 
 

 
 

119. Total Number of Cuboid ` shaped roads in OBB ` 

Mathematics kit 
OBB `  Κ∞Θκ ùΣγ⁄♠ο ∆ρΖ ùΤôιΘ 

Κ∴εùΜπΞΚ ΚγûΟΚ↓τ Φη∞χûΚ 
 1. 51 
 2. 55 
 3. 10 
 4. 100 
 
 
 
 
 



120. Advantages of objective type tests 
 a. Conducting such exams is easy 
 b. Speed and style of writing can’t influence 
 c. enhance language ability 
 d. It takes less time to write the answers 
 ×[ΞΥ ↑∴ô úΘνÜΚ↓τ ΣΥτΚρ 
 a. ΒιúΘνÜΚûΖ ♣νΞ€ιΘο Φ↓Õ 
 b. ΦÝÕΞƒο úΞΚλ+ ΡûΟ Α€ΥûΞ úΘν↑τ 

ÁÕ ΒÚχΚôÕ 
 c. ùΤô→ιƒ[τ ΞΖÚλ 
 d. ↑ûΟΚûΖ ΦÝΘ Ïû[ϕΘ úΡςλ ΑÏλ 
 1. a, b, d 
 2. b, c, d 
 3. a, c, d 
 4. b, c, a  
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 
 
121. The motion of a needle in a sewing machine is   

  1. Rectilinear motion only 
 2. Periodic motion only 
 3. Circular motion only  

 4.  Both periodic and circular motions 
 ΙÚ ûΘΥο ΒΥϕƒςιƒο Ε′♠τ ΒΥχΚλ  

 1. úΡνúΚôγÓ ΒΥχΚλ ΤγÓλ 

 2. ΚôΩØû[ ΒΥχΚλ ΤγÓλ 

 3. ΞγΟ ΒΥχΚλ ΤγÓλ 

 4. ΚôΩØû[ Τσßλ ΞγΟ ΒΥχΚλ ΒςηÓλ 

   
  

122. In scientific terminology, these are commonly called as 
“fluids” 

  1. Liquids and gases  
2. Solids and liquids  

 3. Solids and gases  
 4. Liquids only 
 ≅°↑Υο ÃƒΥô∴ ùΜôσΚ↓ο ΒΞσû[ 

ΜôΘôςΠΤôΚ »»ΣôµΤδΚρµµ Φ∴ ≅ûΨκΣν 

 1. ƒςΞδΚρ Τσßλ ΞôÙχΚρ 

 2. ƒηΤδΚρ Τσßλ ƒςΞδΚρ 

 3. ƒηΤδΚρ Τσßλ ΞôÙχΚρ 

 4. ƒςΞδΚρ ΤγÓλ 

 

 
  



123. The non-essential requirement for producing fire is  
  1. Oxygen 

 2. Fuel 
 3. Nitrogen 

 4. Temperature  
 ¾ëγΟ úΘûΞΥσ[ ùΣôÚρ  

 1. Αχ″⊥τ 

 2. Φ↔ùΣôÚρ  

 3. ûΡγς⊥τ 

4. ùΞκΣ♣ûΩ 

 
124. Match the fibres in SET-A with their uses in SET-B 

SET-A   SET-B 
 A. PET   P. Carpets 
 B. Nylon   Q. Dresses  
 C. Rayon    R. Bottles  
 D. Polyester    S. Parachute  
  SET-A ♠ο ∆ρΖ ΒûΨΚûΖ SET- B ο ≅Ξσ°τ 

ΣΥτΣôγúΟôÓ ùΣôÚιÕΚ− 
  SET-A   SET-B 

A. PET   P. Θûς↑↔κ×Κρ 
 B. ûΡΩôτ   Q. ∆ûΟΚρ 
 C. úςΥôτ   R. Σôγ⁄οΚρ 
 D. Σô←ΥυΟν  S. Σôςãγ 
 1. A-R, B-S, C-Q, D-P 

 2. A-S, B-R, C-P, D-Q 
 3. A-S, B-R, C-Q, D-P 

 4. A-R, B-S, C-P,D-Q 
 

  



125. This is not a greenhouse gas  
  1. Water vapour 

 2. Carbon dioxide  
 3. Nitrogen 

 4. Methane  
 ΒÕ ΣÑûΤ ΒοΩ ΞôÙ ≅οΩ 

 1. ¿ςô↑ 

 2. ΚôνΣτ ûΟ Αχû]Ó 

 3. ûΡγς⊥τ  

 4. ÁúΘτ 

 
126. The animals that have sharp cutting and strong grinding teeth 

are 
  A.Tiger  B. Zebra  C. Dog   D. Horse 

1.  A and C 
2.  B and D 
3.  A and D 
4.  B and C 

 áνûΤΥô∴ ùΞγÓλ Τσßλ Ξ←ûΤΥô∴ 
ùΤοÛλ ΣσΚûΖ ùΣσßρΖ ↑ΩδÏΚρ 

 A. ×← B. Ξ↔χÏƒûς C. Ρôµ D. Ïƒûς 
1.  A Τσßλ C 
2.  B Τσßλ D 
3.  A Τσßλ D 
4.  B Τσßλ C   

 

  



127. The irrigation method used to watering for lawns and coffee 
plantation is  

  1. Sprinkler method 
 2. Drip irrigation method  
 3. Chain pump method  

 4. Dhekli method  
 ×οùΞ↓Κρ Τσßλ Κô♦ úΘôγΟδΚÞχÏ ¿ûς 

ΣôµεÑΞΘσÏ ΣΥτΣÓλ ¿νκΣôΜ∴ Øû[  

 1. ùΘ↓κ× ¿νΣôΜ∴ ≅ûΤκ× 

 2. ùΜôγÓ ¿νΣôΜ∴ ≅ûΤκ× 

 3. Μδ€← ÑΨσ′ Øû[ 

 4. Γσ[λ Øû[  

 
128. Identify the correct statement about pulmonary vein  

  1. It carries deoxygenated blood to heart 
 2. It carries oxygenated blood to lungs  
 3. It carries deoxygenated blood to lungs  

 4. It carries oxygenated blood to heart  
 ÖûςÂςο ′ûς Ï°ιΘ Μ↔Υô∴ áσ°û∴ 

ΚηΟ° 

 1. Αχ″⊥∴σ[ ΒςιΘιûΘ+ ΒΘΥιƒσÏ   

ùΚôηÓ ùΜο€[Õ 
 2. Αχ″⊥ú∴σ[ ΒςιΘιûΘ ÖûςÂςÛχÏ 

ùΚôηÓ ùΜο€[Õ 
 3. Αχ″⊥∴σ[ ΒςιΘιûΘ ÖûςÂςÛχÏ 

ùΚôηÓ ùΜο€[Õ 

 4. Αχ″⊥ú∴σ[ ΒςιΘιûΘ ΒΘΥιƒσÏ 

ùΚôηÓ ùΜο€[Õ 

  



129. The plant that shows vegetative propagation through stolon is  
 1. Strawberry  

 2. Ginger  
 3. Potato  

 4. Colacasia 
 υúΟôΩτ êΩλ ∆ΟΩ Β∴κùΣÚχΚλ ùΜµÙλ 

ΘôΞςλ  

 1. υγςôùΣ↔ 

 2. Βφ′ 

3. ∆ÚûΖχ€ΨδÏ 

4. úΜκΣχ€ΨδÏ 

 
 

130. Find the correct statement about ecological pyramid  
  1. Carnivores are at the base of pyramid  

 2. Energy trapping is high at the top of pyramid  
 3. No producers at the top of the pyramid  

 4. Carnivores produce energy in pyramid  
 ãΨ←Υο ♦ςÁÓ Ï°ιΘ Μ↔Υô∴ áσ°û∴ 

úΘνϕùΘÓιƒÓΚ−  

 1. Τô♥Μ ∆η∞Κρ ♦ςÁ⁄τ ≅⁄κΣÏƒ♠ο 

ΒÚχÏλ 

 2. ♦ςÁ⁄τ ∆ε′κ ΣÏƒ♠ο+ ≅ƒΚ Μχƒ 

€ς€χΚκΣÓ€[Õ 

 3. ♦ςÁ⁄τ ∆ε′κΣÏƒ♠ο+ ∆σΣιƒΥôΖνΚρ 

ΒοûΩ 

 4. Τô♥Μ ∆η∞Κρ+ ♦ςÁ⁄ο ΜχƒûΥ 

∆σΣιƒ ùΜµ€τ[∴ 

  

  



131. Choose the correct set of person and the tools used by them  
  1. Farmer-Pickaxe, Barber-Brush, Tailor-Bobbins  

 2. Farmer-Brush, Barber-Trowel, Tailor-Pickaxe   
 3. Farmer-Trowel, Barber-Pickaxe, Tailor-Brush 

 4. Farmer-Bobbins, Barber-Pickaxe, Tailor-Trowel 
 Τ±Θτ Τσßλ ≅Ξτ ΣΥτΣÓιÕλ ùΘô→σ 

ΚÚ↑Κ↓τ Μ↔Υô∴ ú⊥ô⁄♠û∴ úΘνϕùΘÓ 

 1. ↑ΞΜô♠`úΚôΟô↔+ Ø⁄ƒÚιÕΣΞν`♦ςω+ 

ûΘΥσΚôςν`Σôκ♦τυ 

 2. ↑ΞΜô♠`♦ςω+ Ø⁄ƒÚιÕΣΞν `ùΚôÛß   

ûΘΥσΚôςν`úΚôΟô↔ 

 3. ↑ΞΜô♠`ùΚôÛß,  Ø⁄ƒÚιÕΣΞν`úΚôΟô↔+  

ûΘΥσΚôςν `♦ςω 

 4. ↑ΞΜô♠`Σôκ♦τυ, Ø⁄ƒÚιÕΣΞν`úΚôΟô↔+  

ûΘΥσΚôςν `ùΚôÛß 

 

132. To avoid traffic disturbances and accidents, everyone must 
follow  

 1. Tips on the Whatsapp 
 2. Google map 
 3. Traffic rules  

 4. Traffic updates on FM 
 úΣôχÏΞςιÕ ΒûΟëßΚρ Τσßλ ↑ΣιÕΚûΖ 

ΘÓχΚ ΙπùΞôÚΞÚλ ΚûΟ♦⁄χΚ úΞη⁄ΥÕ 

 1. Ξôγ]κ♦ο ΞÚλ ΘΚΞοΚρ 

 2. áÏρ ΞûςΣΟλ 

 3. úΣôχÏΞςιÕ ↑ƒØû[Κρ 

4. FM ο ΞÚλ ×Õ ΘΚΞοΚρ 

 
 
 
 



 
133. The headquarter of Alluri Sita Rama Raju district is 
 1. Araku 
 2. Parvathipuram 
 3. Paderu 
 4. Narsipatnam 
 ≅οí↔ ≠ΘôςôΤ ςô⊥ø ΤôΞγΟιƒτ 

ΘûΩûΤΥΚλ  

 1. ≅ςχÏ 

 2. ΣôνΞƒ×ςλ 

 3. ΣôúΟÚ 

 4. Ρν′Σγ⁄Πλ 

 

134. The River Penna does not flow through the following district 
of Andhra Pradesh 

 1. Nandyal 
 2. YSR Kadapa 
 3. Satya Sai 
 4. SPS Nellore 
 •θχΚôηΣΞσßρ Αϕƒςκ ♦ςúΘΜιƒο ùΣτ∴ô 

Ρƒ ΣôΥôΘ ΤôΞγΟλ 

 1. ΡϕƒΥôο 

 2. YSR ΚΟκΣô 

 3. ΜιΥ Μôµ 

 4. SPS ùΡοíν 

  

  



135. Identify the correct statements in connection with Latitudes 
 a. Latitudes are farthest at the Equator and meet at the 

poles 
 b. Latitudes  never meet with each other 
 c. Latitudes are known as Meridians 
 d. Latitudes are invisible horizontal lines that run parallel 

to  the Equator  
 ≅γΜúςûΚΚÞχÏ ùΘôΟν×ρΖ Μ↔Υô∴ 

áσßΚûΖ ΚηΟ°ΥÜλ 

 a. ≅γΜúςûΚΚρ éΤιƒΥ úςûΚ♠ο 
ùΘôûΩΞôΚÜλ+ ÕÚΞδΚ↓ο Ιτß 
úΜνϕÕλ ∆ρΖ∴ 

 b. ≅γΜúςûΚΚρ ΙτßχùΚôτß ΦκúΣôÕλ 
ΜϕƒχΚôΘûΞ 

 c. ≅γΜúςûΚΚρ ΡηΣΚο úςûΚΚρ Φτß 
≅ûΨχΚκΣÓ€τ[∴ 

 d. ≅γΜúςûΚΚρ éΤιƒΥ úςûΚχÏ ΒûΠΥôΚ 
ùΜοÛλ ΚηÔχÏ ×ΩκΣΟôΘ úΚôÓΚρ 

 1. a, c 
 2. b, d 
 3. b, c 
 4. a, d 
  

 
136. The type of natural vegetation that Kerala State mainly consist 

of  
 1. Montane forest 
 2. Mangrove forest 
 3. Tropical evergreen forest 
 4. Tropical thorny forest 
 úΚςΖô Τô♣Ωιƒο Øχ€ΥΤôΚ ΚôΠκΣÓλ 

ΒΥσûΚ ΘôΞςιƒτ ΞûΚ 

 1. ΤûΩχ ΚôÓ 

 2. ΜÕκ×♣Ωχ ΚôÓ 

 3. ùΞκΣ ΤηΟΩ ΣÑûΤ Τô[ôχ ΚôÓ 

 4. ùΞκΣ ΤηΟΩ Øγ×Θν ΚôÓ 



137. The  lowest  voter  turnout  in  the  Loksabha  elections  was  
recorded in this year. 

 ΒϕΘ Αη⁄ο ΡΟϕΘ ΤχΚΖûΞ úΘνΘ←ο ♥Κχ 
Ïû[Ξô∴ ΞôχÏ ΜΘÅΘλ ΣƒΞô∴Õ 

 1. 1951 - 52 
 2. 1967 
 3. 1971 
 4. 1977 
   

  

138. One of the following was not a freedom fighter of Andhra 
Pradesh 

 1. Ponaka Kanakamma 
 2. Duvvuri Subbamma 
 3. Konda Venkatappayya 
 4. Sarojini Naidu 
 •ÝρΖΞνΚ↓ο Αϕƒςκ ♦ςúΘΜιûΘ úΜςôΘ 

↑ÓΘûΩ úΣôςôγΟ Åςν 
 1. úΣô∴ôχΚ Κ∴ΚλΤô 

 2. Õπî↔ ÑκΣλΤô 

 3. ùΚôηΟô ùΞδΚΟκΣµΥô 

 4. Μúςô≥± ΡôÙÓ 

  

  



139. Identify the planets that do not have the satellites in the 
following 

 1. Mercury - Mars 
 2. Venus - Uranus 
 3. Mercury - Venus 
 4. Uranus - Mars 
 •ÝρΖΞσßρ ÕûΠχúΚôρΚρ ΒοΩôΘ 

úΚôρΚûΖ ΚηΟ°ΥÜλ 

 1. ×Θτ ` ùΜπΞôµ 

 2. Ñχ€ςτ ` Ùúς∴υ 

 3. ×Θτ ` Ñχ€ςτ 

 4. Ùúς∴υ ` ùΜπΞôµ 

   

140. The dynasty of Delhi Sultanate that ruled for the longest 
period was 

 1. Slave dynasty 
 2. Tughlaq dynasty 
 3. Lodi dynasty 
 4. Khilji dynasty 
 ⁄ο← ÑοΘôτΚρ ≅ςΜ ΞλΜδΚ↓ο ♥Κ ≅ƒΚ 

ΚôΩλ Αγ′ ùΜµΘ ≅ςΜ ΞλΜλ 

 1. ≅⁄ûΤ ΞλΜλ 

 2. ÕχΖχ ΞλΜλ 

 3. úΩô⁄ ΞλΜλ 

 4. €ο≥ ΞλΜλ 

  
  



141. This is a physical input for Agriculture 
 1. Soil 
 2. Machinery 
 3. Chemicals 
 4. Storage 
 ΒÕ ↑ΞΜôΥιƒσÏ ΙÚ ùΣΖ¾Κ ∆ρÇÓ 

 1. Τη 

 2. ΒΥϕƒςδΚρ 

 3. ςΜôΥ∴δΚρ 

 4. úΜ♥ιÕ ûΞιΘο 

 
 
142. The great bath of the Indus valley civilization was found in 

this city 
 1. Lothal 
 2. Harappa 
 3. Dholavira 
 4. Mohenjadaro 
 ′ϕÕΜΤùΞ↓ ΡôΚÃΚιƒτ ‘ùΣ↔Υ ÏΖλ’ ΒϕΘ 

ΡΚςιƒο ΚηùΟÓχΚκΣγΟÕ 

 1. úΩôΘο 

 2. ςκΣô 

 3. úΘôΩÅςô 

 4. ùΤôΚφΜΘôúςô 

  
  



143. Marco polo praised this Pandya king’s administration 
 1. Bhillama 
 2. Singhana 
 3. Thailapa 
 4. Kulasekhara 
 ΤôνχúΚô úΣôúΩô ΒϕΘ Σôη⁄Υ Ττ∴↔τ Αγ′ 

♣νΞôΚιûΘ Σôςôγ⁄∴ôν 
 1. ♦οΩΤô 

 2. ′δΚ∴ô 

 3. ûΘΩΣô 

 4. ÏΩúΜΚςô 

 
144. The first Health Minister of Independent India was 
 1. John Mathai 
 2. Jagjivan Ram 
 3. Baldev Singh 
 4. Raj Kumari Amrit Kaur 
 ÑΘϕƒς ΒϕƒΥô↑τ ØΘΩôΞÕ ÑΚôΘôς ≅ûΤεΜν 
 1. ⊥ôτ ΤιΘôµ 

 2. ⊥χËΞτ ςôλ 

 3. ΣοúΘπ ′δ 

 4. ςôϖÏΤô↔ ≅λ↔ι ùΚΖν 

 
 
 
 
 
 
 
 
 
 
 



 
 

145. “Knowledge Acquisition is always interdependent. Children 
observe better than adults. Understands well. We must 
recognize their ability in the creation of knowledge” said by  

  1. Piaget  
 2. Cunningham 
 3. Spears  

 4. Prof.Yashpal Sharma  
 »»≅°ûΞκ ùΣßΘο ΦκùΣôÝÕλ Ιτû[ùΥôτß 

ΜôνϕÕ ΒÚχÏλ− ùΣ↔ΥΞνΚûΖ ↑Ο ÏΨϕûΘΚρ 
Ρτ[ôΚ Σ↔≠←κΣν− Ρτ[ôΚ ×↔ϕÕχ ùΚôρΞν− 
≅°ûΞ ∆ÚΞôχÏΞƒο ≅ΞνΚ↓τ ƒ[û∴ Ρôλ 
ΚηÓΠς úΞηÓλµµ Φ∴χ á°ΥΞν 

 1. ♦Υôú⊥ 

 2. Κτ±δ?ôλ 

 3. υ♦Υνυ 

 4. úΣςô′↔Υν ΥυΣôο ΜνΤô  

 
146. Making a final conclusion involving a value-based decision is 

called  
  1. Test  

 2. Examination  
 3. Evaluation  

 4. Assignment  
 Τƒκ× ≅⁄κΣûΟ♠Ωô∴ Ø⁄ÜΚûΖ ùΚôηΟ 

Βßƒ Ø⁄ûΞ ≅↓ιΘûΩ ΒπΞôß ≅ûΨκΣν  

 1. úΜôΘû∴ 

 2. úΘνÜ 

 3. ΤƒκÀÓ  

 4. ΙκΣûΟÜ 

 
 



147. The cardboard or a wooden board that has precisely spaced 
holes which is used as a teaching learning material is  

 1. Hook and loop board  
 2. Peg board  
 3. White board  

 4. Magnetic board  
 ΞûςΣΟ ≅γûΟ ≅οΩÕ ΙÚ ΤςχΚγûΟ 

ΣΩûΚ♠τ ÁÕ Μ↔Υô∴ ùΘôûΩÜΚ↓ο 
ÕûΖΚûΖ ùΚôηΟ Κσ[ο Κσ♦ιΘο ΚÚ↑ 

1. ùΚôχ€ Τσßλ ΞûΖΥ ΣΩûΚ 

 2. ØûΖ ΣΩûΚ 

 3. ùΞηûΤ ΣΩûΚ 

 4. ΚôϕΘκ ΣΩûΚ  

 
   

  



  
 
148. “A project is a wholehearted purposeful activity proceeding in 

a social environment” defined by 
 1. Kilpatrick 
 2. Stevenson 
 3. Billard 
 4. Binning and Binning 
 »»ΜêΚ Ñσßε ãθ♣ûΩΚ↓ο ØÝ Τ∴ÕΟàλ+ 

ΣΥτ úΡôχΚιÕΟτ ùΘôΟÚλ ΙÚ ùΜΥοΣôúΟ 
ùΜΥοƒγΟλµµ Φτß ΞûςΥßιΘΞν 

 1. €οΣôγ↔χ 

 2. υ≈ΞτΜτ 

 3. ♦οΩôνγ 

 4. ûΣ±δ Τσßλ ûΣ±δ 

  
149. Identify the guiding principles followed in the design of Social 

Science texts 
 a. An inclusive method 
 b. Continuous and Comprehensive Evaluation 
 c. Connecting the curriculum to real life experiences  
 e. Lack of connection with other subjects 
 ΜêΚ ≅°↑Υο ×ιΘΚιûΘ Ξ⁄ΞûΤκΣƒο 

♦τΣσ[κΣÓλ Ξ→ΚôγÓ ùΚôρûΚΚûΖ 
ΚηΟ°ΥÜλ 

 a. ∆ρΖΟχ€Υ Øû[ 
 b. ùΘôΟνε′Υô∴ Τσßλ ØÝûΤΥô∴ ΤƒκÀÓ 
 c. ΣôΟιƒγΟιûΘ ≅τ[ôΟ ΞôθχûΚ 

≅àΣΞδΚÞΟτ ΒûΠιΘο 
 d. ♦[ ΣôΟδΚÞΟτ ùΘôΟν♦τûΤ 
 1. a, c, d 
 2. a, b, c  
 3. b, c, d 
 4. a, b, c, d 



150. This aspect does not come under the Trans disciplinary 
Approach 

 1. Using technology 
 2. Deep study between different subjects 
 3. Facilitating Student research 
 4. Separation of Various subjects. 
 ΒûΟ♣ûΩ ΙÝδÏ ΜôνϕΘ ≅ÔÏØû[♠τ •θ 

ΞςôΘ ≅λΜλ 

 1. ùΘô→ο ÖγΣιûΘ ΣΥτΣÓιÕΘο 

 2. ΣοúΞß ΣôΟδΚÞχ€ûΟúΥ ΑθϕÕ Σ⁄ιΘο 

 3. ΤôΠΞνΚρ Αςôµε′ ùΜµΞΘσÏ Ξôµκ× 

ΓσΣÓιÕΘο 

 4. ΣοúΞß ΣôΟδΚûΖ ♦↔ιΘο   

 
 

 


